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2. c) 0

3. d 3

4. d) 497

5. a) 4

6. c) SURMT ¥4 ¥ 3MH

7. b)  (0,4) ¥A b) QIR

8. b)  40°

9. a) 3.4cm

10. b) TH WG

1. b)  75°

12. TS *1 &9%A = A = \'s(s—a)(s-b)(s—)

13. ¢ 1344cm?

14. b)  750cm’

15. b)  wr(l+7)

16. a) 1:4

17. a) 105

18. d) 38

19. o©)

20. P(E)+PE T =1 [P(E) + P(E) = 1]

21. a=%awwaﬂwwﬂwwa—2x$m
x=1=y=4)(x=3=y=0) viaTaToT=
x=2=2y=2)(x=4=>y=-2) JE—

22. ZQRS =60° f T ©

23.  72cm’
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24.
25.

26.

27.

28.

29.

322 cm®

1584 m?
102 _ . 875 _
40 9IR FA i) e =0.068 i) =045
a=2+3
LI S

3 =
a— % = (2+V3) — (2—V3) = 2+V3 — 2+V3 =23

a-1=2V3
a

a(a-1)-b(b—1)=a’-a—-b’+b=(a’~-b*)—(a—b) =
=(a—b) (a+b+-1)

el

P=2-a = atp+(-2)=0
= a’+p’ + (-2)’ = 3xaxpx(-2)
—a’+ p3— =—6ap

—a'+6ap+p°-8=0

Y =25 + 14(x=1) = y = 25 + 14x-14 =
I x=0=y=9 x| 0 |-1
g x=—-=y=-5 y|9]|-5
h IO T X-318 o T g a0 y-318 & STfeer formn
T To5 A0, 9) T B(—1,-5) WH TR W TifaW | AB =l
fireTTeT aun 38 ST 3T SRR STTEvaeh U I i
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Y1 91|-5

x-axis, 1 km = 1cm

9+ A(0,9)

y-axis, 13 =1cm

14x+9

y:

B(-1,-5) ¢ -5+

30. ST W B A ST ol A3, 2), B(—4, 2) 3R C(—4,52) % &9 |
Meifiad HifST | g9 =9 fog D & s o & §, @i
ABCD U& 3T &l |

iR Weh 3TTId hi THE U SeR il €, 37 D ol
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ISl A%h ¥S1 o S 31d 3 BIMT =W 21 D i hife C Y
SHife o SR {efd 5B =MeT) SHOT D fesme (3,5)% |

A y
C(-4, 5) D(3, 5)
- - - = = == == LS ————— - *
! I
! I
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|
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- ------- 24— —-=-=-=-=-=- -
B(—4, 2) A3, 2)
1 —_
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5 4 -3 2 -1 0 1 2 3 4 5 X
14
2.1
yI
Al

f& @ : AABCH /B> /C.ANLBC @2 AM, /AT GHEHS®

2 .
TG FT §: LMAN = - (/B - £C)
3IYUF - AM, ZA ST GHRGHSTF 2

1 B N M C
ZMAB =— ZA (i)
T AANB T /B + /NAB =90° = /NAB =90°— /B (ii)

. /MAN = /MAB - /NAB =~ /A—(90°— /B)

2
=L JA- (LA LB LCI LB [ (£A+/B+/C)=90°]

= 1 —

Hence ZMAN = % («£B-«C)
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32, x=60°
e
DP || EF &=
AADPH, EWer fog & AD &1 @ EF||DP
— Fae fag € AD &1 (9ea fag wig & foaim @)
AFBC ¥, D7 fag @ BC &1 de DP||BF
— PHET & FC @I

TH TR AF = FP =PC

AF + FP + PC =AC 1
AF +AF + AF = AC = 3AF = AC = AF = 3 AC
A

B D C

F D E C
& € :~ ABCD q ABEF T THI FqS T & MR AB
el ek & gUeR 3@l AB du1 FC #g feed 2

fg ®T ® - ar(||gm ABCD) = ar(||gm ABEF)

33.

SYUfd :- AADF @ ABCE H
AD=BC (99 Jgys ®1 Tug@ qud)
AF=BE  (THIR Jq4s &1 T @ o)
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/DAF = /CBE (AD||BC, AF||BE)
AADF = ABCE (SAS HaEHaT )

—AD I AF & &1 1 ST = BC d1 BE & 1< 1 hiTl

ar(AADF) =ar(ABCE) (i)
ar(/JgmABCD)=ar(JABED) + ar(ABCE)
= ar( [ JABED) + ar(AADF) (HIe0T (i) &)
=ar(|]|]gmABEF)
gH Thll ar(||gmABCD) = =ar(||gmABEF)

1ol

xy = - (a+b)

N \,

a=50cm

T d, AB TN XY & ol 1 g ©
T d, XY @1 DC & o= &1 g o B

ar (TS ABXY)=%('FITI'I"C|T oS T AT) x ST

3a+b
/)

ar(ABXY) = % (a+ a”b)d - (

: )d = ar(XYBA) =
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34.

35.

ar(qHEAd XYCD) = %

a;b +b)d = (a'f’b)d = ar(ADCYX)

ar(DCYX) _ a+3b _ 50+90 e
ar(XYBA) _ 3a+b _ 150+30 _ 9
- ar (DCYX) = % ar (XYBA)

A OECH

ZEOC = 180°—(90°+30°) = 180°-120°-60°

.. ZCOD = 90°-60°=30°
£CBD = %ACOD =%x 30° =15°
=y=15°

TH: ZABD = %AAOD - % x 90° = 45°

qd1 ZABC = 45° + 15° = 60° = LABE

AABE |

Z/BAE = 180° — (90° + ZABE) = 180° — (90° + 60°)
x = /BAE = 180° — 150° = 30°

= x = 30°

SAd: x=30° and y = 15°

T 1 YREAR i W

1 __ 1  (3+8) __ 3+8 _ 3+\8 _ 3+\8
3-8 (3—\8) (3+V8) (3)—(V8)}* 9-8 1

T TR

1 1 1 1
W—vsw, m—vms, 65 \B+5, ) \5+2

= 3+8
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o 98
T 1 1 ~ 1 N 1
(3—V8) (V8—7)  (N7-V6) (\6—5) (\5-2)

(3+V8) — (V8+7) + (N7+V6) — (V6+5) + (V5+2)

3+V8 — V87 + \7+V6 — \6—5 + \5+2
3+2
5

= <A1 94

36. 8x’+27y’+36x’y +54xy’
= (2x)’ + (3y)’ + 18xy(2x+3y) [..a’+b’+3ab(a+b)=(a+b)’]
= (2x)* + (3y)” + 3(2x)(3y)(2x+3y)
= (2x+3y)’ = (2x+3y)(2x+3y)(2x+3y)

37. i)  /B+ £CBP =180° (fas 7m)

- =1,8+1 _,cBP=90° A
2 2

%45 + /1 =90° B
- o 1 1

=£1=90°-> 4B____ ()p

Again £C + /BCQ = 180°

—l l = o
—24C+ZLBCQ +0
1

= 2 /C+ /2 =90°
= /2=90°— % ~C (ii)

InABOCH 1+ /2 + /BOC = 180°
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/BOC =180°— (/1+./2)=180°—(90° — /B + 90° — -

5 5 £cC)

/BOC = Y4(£B+.C) = Va(LA+LB+,C)-Ys /A
=14 x180°— Vs/A [. Z/A+/B+,C=180°]
/BOC=90°— /A

i)  AABCH TS &iv1 I fam 9
ZA+/B+-2C=180°
= V2/A+Y2/B+Y2/C=90°
= Y2/A+/B+/C=90°
— /14,22 (90°=Vos/A) (i)
ABOCH

(£1+£2)+ /BOC = 180°
(90°—Y%/A) + /BOC=180° (THIHIII (i) STAM &)
Z/BOC=90°+ % /A

31eran

fa 2:- AABC ® 9 BC R U fog D feora ® fF /BAD =
/CAD 1 BD =CD A

fg @ AB=AC

T - ADH g DAk s YR aer Bt ol T /C
fo" AD =DE a1 EC &l fHam |

399 ;- AABD I H AECD E

BD=CD (f& ?)

AD=ED (=1 2)

/ADB=/EDC (SiHifyq@ o)
AADB = AECD (SAS Haimaydr d)
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AB =EC

} (CPCT®) (i)
qam /BAD = /CED

W= /BAD = /CAD (&1 ) (ii)

(i) T2 (i) §
ZCAD = ZCED
— AC=EC [SRTsR iUl ! THE qoMd sR=R) (i)
THIEHTT (i) T4 (i) 9
AB = EC
AC =EC

3Td: AABC HHfgeTg st T

39. i Rl AT = %nﬁ

foet & 10% 1 95 = 10%r=—5 r

}:>AB=AC

A ¥ gfg =%n x 1.331 P = %nr3=%nr3(1.331—1)

A | % gfg = — x 100% = 33.1%

stera
S @1 C.S.A. 2nrh

9o &1 TSA,  2mr(h+)

a
2

https://www.evidyarthi.in



= h+r=2h = h=r
T.S.A.=2nar(h+r)=616 =2nr (r+r)=616
=2nrx2r=616 = 4nr* =616

22 _ — e — 7=
=4x7xr2—616:>r2 616x88 —r=7=h

T &1 3—™FdA = nr*h = 2—72 x7x7x7=1078cm’

. T T 3AR—AT= 1078 cm®

O Agh! i WA =x, ASHA bl G =y
3d: AShl g el Ul 3Tk =70x
ARl g R/ U 37 = 73y
Sl g hel T 3Teh = 71(x+y)

S T0x+73y=71(x+y)
=73y—-71y=71x-70x
=2y=X = = xy=2:1
3T
e T A1 = 64
el H HA T = 100
T @1 AN = 61 x 100 = 6400
FEGAT T W&l T I = 6400 — (26+9)+(36+90)
= 6400 — 35 + 126
-, TEGST T WET HIEA = 6400+91=6491

: _ 6491 _
- TEl "I = 00 = 6491
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